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Question Number : 1 Question Id : 27028218628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The main objective of teaching at Higher Education Level 1s:
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Options :

To prepare students to pass examination
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To develop the capacity to take decisions
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To e1ve new information
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To promote teacher-centred learning
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0

The primary duty of the teacher 1s to
S cind (@oed 850



Options :

Raise the intellectual standard of the students.

- Doegie (Hep ﬂ”ﬁ]ﬁ&f‘)i& 2osrobodto

Improve the physical standard of the students.
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Help all round development of the students.
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Inculcate value system in the students.
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Question Number : 3 Question Id : 27028218630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Correct Marks : 2 Wrong Marks : 0

Generally the most effective approach dealing with the child's aggressive behaviouris
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Options :

to channel his/her aggression mto legitimate areas of competition.

| BD[0ED ErHth BHB55H DO S orBoBen Bahdo

to reward him/her for friendly behaviour and to ignore his’her aggressive behaviour.
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to give him due punishments, when he shows aggressive tendencies.
5B (RGN Babinth 88o0dto

3. %
to msist that he/she apologies for his undesirable behaviour.
4% w8 (HHBIH BHrsds 878500 wdndo

Question Number : 4 Question Id : 27028218631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
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Which of the followmng statement is not correct with regard to lecture method in teaching?

'Rﬁf‘.ﬁ \J@E '&‘Ju:ua':' wa;ﬂﬁ&#g ru\_:-;A..OCIO _5;1..- '!DJ'LLJNO
Options :

Develops reasoning
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LImproves knowledge
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It 1s one way process

26 DEBY (H8cH

In this Method students are passive

4 % = égaéﬁ Sjmtgégm Eﬁ)@dﬁ:ﬂé@éom SHOEIS

Question Number : 5 Question Id : 27028218632 Question Type : MCQ Option Shuffling : No Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

"A diagram speaks more than 1000 words." The statement means that the teacher should

“e.8 Digo Jang Sreeod) EHRIG” @) FHBSSo FHsdo

Options :

use diagrams in teaching.

Bad ot i o afin A Wy
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speak more and more in the class.
| 3018 KOS Q¥ HréreeD.

use teaching aids in the class.

y S518 K680 SPESEigsmred ad@RRoTed

not speak too much in the class.
SB858E° B Eretptioeth
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Is Section Default? : null
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No

Correct Marks : 2 Wrong Marks : 0



Which of the following is not a main task of research in modern society?

@HAE Diireod® HBEGF Brarodo 56 wb?

Options :

to keep pace with the advancement in knowledge.

8 HACH Eﬁﬂ%ﬁo@s Hwothotdo

to discover new things.
Ardrogronn Baftato

to write a critique on the earlier writings.

18 8300z Dhirds 58855 Saheo
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to systematically examine and critically analyse.

Bz 5888, DI0G)eH)E DEhes DabHeo.
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Correct Marks : 2 Wrong Marks : 0
The research that applies the laws at the time of field study to draw more and more clear ideas
about the problem s:
Slron estfadios® S Homofoils someih Medorr Ho890EIE eSiEHs Adired
sdiango T2 H68%G téo:
Options :

Historical research

- TB(BE D85S



Action research

Experimental research

BErREE D08

Case study
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Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No

Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control : No
Correct Marks : 2 Wrong Marks : 0

The experimental study is based on:

(BEPTEE egiichards Surergrdo

Options :

The manipulation of variables
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Conceptual parameters
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Replication of research
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Survey of literature
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Question Number : 9 Question Id : 27028218636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On Load : No
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Correct Marks : 2 Wrong Marks : 0

Which of the following sampling methods is not based on probability?

1Bob 57°0F° Hogrdedsh eHHBoSY HASEHS Diéé?_‘v 6 ?
s 5 c :
Options :

Simple Random Sampling
OBE alrthing H8IahHo

1. %
Stratified Sampling
HOES (H8Sahso
2.%  OF
Quota Sampling
v B%er (5@3ahs0
Systematic Sampling
185D (23&SchEo
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Question Number : 10 Question Id : 27028218637 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On



Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following is the first step in starting the research process?

1Bob TS 5

Options :

Searching sources of tools.

58880 Hbore aegroresh S8 o03Eo

Survey of related literature

Somobd HBTHSe Jie ) ff:n\ Jcho

Identification of problem
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Searching for solutions to the problem
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Question Numbers : (11 to 15)



Question Label : Comprehension

Read the passage and answers the question from 11 to 15:

By the mid-nineteenth century, mass production of paper patterns, the emergence of the home
sewing machine. and the convenience of mail order catalogues brought fashionable clothing into
the American home. By the early twentieth cenfury. home economists working in extension and
outreach programs taught women how to use paper patterns to improve the fit and efficiency of
new garments as well as how to update existing ones.

Teachers of home economics traditionally made home sewing a critical part of their curriculum.
emphasizing self-sufficiency and resourcefulness for young women. However. with the increasing
availability of mass-produced clothing in catalogues and department stores. more and more women
preferred buying garments to making them. As a result. home economists shifted their attention to
consumer education.

Through field study, analysis and research. they became experts on the purchase and preservation
of ready-to-wear clothing for the family. offering budgeting instruction targeted at adolescent girls.
Moderm home sewing made it possible for American women to transcend their economic differences
and geographic locations with clothing that was increasingly standardized. The democratization of
fashion continued through the twentieth century as the ready-to-wear market expanded and home
sewing became more of a pastime than a necessity.
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Sub questions
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :



No

Correct Marks : 2 Wrong Marks : 0

How did home sewing help American women?

Do Bty edbES Hirdol der SBahndoh?
Options :

They became field analysts and researchers.

) T PG DFehen Hdakn HOEen edit.
1. e '

They went beyond economic boundaries.
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They found good jobs.

% 008 &8 resDh Eiad
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They became excellent teachers.

s edinBis Gargridinen oot
o o 2

Question Number : 12 Question Id : 27028218640 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

What improved the fit and efficiency of new garments?
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Options :
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Sewing maclunes
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Mass production
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Paper patterns
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Question Number : 13 Question Id : 27028218641 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

What were the skills that were emphasized for young women?
cndhe 55 T°8) Baynd Jdemgen dnd?

Options :

Selt-confidence and self esteem
@é@ 3]%’25?60 sobBain @éé B0
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Self-sufficiency and resourcefulness
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Resourcefulness and self-confidence
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Prudence and resourcetulness.
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Question Number : 14 Question Id : 27028218642 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

Who became experts on the purchase and preservation of ready-to-wear clothing
for the fanuly?
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Options :

Owners of department stores

1 % Garlotn thevere dhassirioen

Field-study analysts
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Young women
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Teachers of home economics
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Question Number : 15 Question Id : 27028218643 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0
Who was the target group?

e BEnSeo a%%?
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Options :

Young women

G0y sndeEen

School children
s ae) 33-5056@3 en

Adolescent girls
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Working women
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Sub-Section Number : 4
Sub-Section Id : 2702821368
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 16 Question Id : 27028218644 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

The following are the barriers to effective communication except one. Find it out.

& (Bob =B8° w58 S RsbEosghi Hirery &rb)i8 t:00 efothen. o) ShfFHod.
1. Bypassing
&SR0
Proper encoding
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3. Frame of reference
@5 858
4 Physical distraction
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L

Psychological interference

HmiiR 550

6. Emotional interference
e Ol £7550

7 Cultural differences
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The right code is:
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Options :



Question Number : 17 Question Id : 27028218645 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

A teacher should have good communication skills. He / she will be a good communicator if
he/she

28 Kt ot Sogrip SDee BOA 605, 98D [ w3 2.8 508 QrFHEmT sokérdd:
Options :

Asks questions about his / her classroom

wédD [ @D SEKS K 1960 BHEen ethiberth.

Helps students to score good marks / grades

rghen o éPéJ(J;JJ,-’E%EJ 256 BHErd8 BcHHtHeEH
A

Helps students to ask relevant questions
$000BS (HHOD ©ENErdE Dughed [EPayarrt

Uses and provides mnstructional material
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Correct Marks : 2 Wrong Marks : 0

In the question given below are two statements labelled as Assertion (A) and Reason (R).
In the context of two which one of the following is correct?

Bots mi EH6S° Toth D samon. (80 (A) Hbdh suo (R) ef) bedatisa.
Assertion (A): Women are depicted in a negative way m the media.

(HE6S (A) : DBairs® Hirfod Haremis Sltgéﬁﬁ D@gGoT.

Reason (R): Media has furned completely unethical in modern times.

80 (R): shboie athdE seod® Jrom egdore Srosfonod.
Options :

Both A and R are true. R is the correct explanation of A

A $0cin R Botir deso, R &dB A @) 5B Dt

Both A and R are true. R is not the correct explanation of A

A 5bc%n R Bor 923059, R &dd A Gng) 585 D588 soth

A 1s false. R 1s true

A &33p, RQes0

Aistrue. Ris false
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Question Number : 19 Question Id : 27028218647 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
What is ‘Synchronous Media?”
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Options :

Printed media

1 % (2085 &aie

Media providing information about the issues and events
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soigen sHBain Nozpéden Mot Sirarted)) @ofodd
2. %

Live telecast

Media in digital enviromment
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Mr. Ajay completed MA Economics. He 1s going to attend an interview, He dressed for the

occasion. This 1s an example of communication,
0 D olo.o) BET0 v, odH 8 soblrgh el ST oD
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Non-verbal
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Emotional

- E;PSE’Eigﬁ

Psychological
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Sub-Section Number : 5
Sub-Section Id : 2702821369
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

The ratio to earnings expenditure of ‘A’ is 5:3 and that of ‘B” is 7:6. If the savings of
‘A’ 15 twice that of *B’ then what could be the ratio of total earnings of ‘A’ and ‘B’
together to the total expenditure of ‘A" and ‘B,
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Options :
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Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
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Correct Marks : 2 Wrong Marks : 0

Two trains running at 45kmph and 54 kmph cross each other i 12 seconds when they

run in opposite directions. When they run in same direction. a person in the faster

train observes that he crossed the other tramn i 32 seconds. The lengths of the two

trams are (in meters)
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Options :
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Question Number : 23 Question Id : 27028218651 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

In a factory. for every five unskilled workers. there are two skilled workers. If 10

unskilled workers are dismissed and two skilled workers are taken. then the ratio of

skilled workers 1s half. How many skilled workers are there m the factory?
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Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The missing number in the sequence : 6. 14, 36. 98. 15
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Options:
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Correct Marks : 2 Wrong Marks : 0

BUTTER is coded as 123345 then the code for TUBE 1s
‘BUTTER® ‘123345 1 56 ToHG08. e@H 1 'TUBE' o0 86
Options:

% 1234
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Sub-Section Number : 6
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Missing group of letters in the following
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As ‘BDEG’ 1s related to ‘DFGI’ so ‘HKMO' related to

‘BDEG’ & ‘DFGI’ & $02)0¢%:30 03¢, @3 DA™ ‘HEMO’ & $02508580
Options :

INOQ

1. %

, « TMOP

3.v IMOQ

INLP
4. =
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Which among the following statements is correct based on the following Venn

diagram

808 IS VS0 SO0 [2edeinrede AR

Options :

| x Some X'sarenot W. (503 X e Wen 5D )

, % some Y'sarenot W. () Yen Wensdn)

» X'sareY's. (XenYen).

4V Wisarenot Z. (WenZew 5¢w)
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The odd one among the following is

80O TS AR, 2.8 VOO NOoWE

Options :



Rose ( (D ey3) )

5 % Lotus ( @o08)

3 Orange (0°002 )

4w Lilly (5e0)
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g

. There are three married couples m a famuly of three generations. A 1s grandson of H;

G 1s the mother m law of C; D and E are brothers. B 1s only nephew of E. Fis the
sister in law of D. B 1s the son of C. How is B related to G ?
P ST 50EN00ET, WP DFEre 20N G aN. A, H B0E), e G
@6 € G3nE) 9; D o000 E &FSen. B, E Ghod) 3oee0; F, D BoE), H6& B
Sotocen (sister in law), B, C G30%), 505, B G & der Hoaoo?

Options :

1 = Daughter (Boeedd D)

- Wife (23°8§)

5  Grandson (e0IED)



. cimeh
4 % Daughter in law (5Caew)
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Note: The questions Q. 31 to Q. 35 are based on the following information:
Ha0E: (38160 Q.31 b0 Q.35 508, 808 JArirdo SO &) o,

The performance of 5 batsmen A, B, C, D and E playing for a team in a cricket series
of five 20-20 matches is presented in the following pie charts. The first pie chart indicates the
distribution of total runs scored by the team in the five matches and the second pie chart
indicates the distribution of total runs scored by each batsman in the entire series. Assume
each batsmen played in each match and the sum of individual scores of batsmen constitutes
90% of the total runs scored by the team in each match.

2.4 9% 2020 57885 © 5008, 2.8 26D FB% ey A, B, C, D B0 E @ 2058
2rge3of estord Gng) HBHe (HABND, 808 Bod SETd dtuwod Fod

BIDEI0. Jokd D b b éJDFSSmeSﬁ oty 308 Ao Bibe ek Hrod. HEAM
BOdS 26260 (296 36T @) S35 O 0D TN O Db ArdN08. ()6

et @) SF5S O SR, HO0H 87 7S OF DAHAD eerr HEiHe Fnddw,
& 26D T F0ea HHHOS 90% 9T,

Sub questions
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Correct Marks : 2 Wrong Marks : 0
The percentage of runs scored by the batsman E m the five matches scored by the

team 1s

28 atp 0iH FrsSos® TAH HDHOS, e ED G0 H8He Féo

Options :
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The percentage of runs scored by batsman E in the runs scored by batsman C is

2263728 € TS HDHOE, 27665 ) 57 E TS HBier 7ebo

Options:

1. % 10



L%
L]
LIS
LIPS
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By what percent C scored runs more than that of D?

23°2€3 ) TS D $0T) C DE0LT Do) 0i0e) 3°¢h0 J0eh ?

Options :

1. % 10
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In the runs scored by the team in all matches, the batsmen scored less than 26 % runs
are
) Frsos’ 26 .5 T H&HOS, 26 TS0 Lo b H&en

Options:

Aand B
1 % AoNOA B

A.Band D

, » A.B 08a» D

A Dand E
A.D DA E
3

A B . Dand E
4 x A.B.D0OAW E
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In the total runs scored by the team. the percentage of runs scored by B and C
together 1s

260 &%).5 T s HOHOS, B B0 CEOD T Hke Te0
Options :

1% 2177



2_ W

3 % 55.00

4. 6l.11

Sub-Section Number : 8
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Which device i1s required for the Internet connection?

!

]

&y

& s Al e =yt oy o i
2066583 e0:onrR8 o) HBEBo eddo

Options :

Joystick

Modem

2. OGeD

D Drive

P!

n

30
£
[=]
L&



NIC Card

n

3.6, 8. =50
L

-

A

4. %
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Junk e-mail is also called

E o i i e iy £ B oo TN et
2305 B—aHONS £ dHorr Brd Denaed.

Options :

spam

D
LaF ot B
@

spoof

S0V

o

snifter script

b B3

3. %
spool
S
4. %
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Which of the following is not a protocol used for infernet communication

2066385 Harmred® 180d 7ASE° & (s aeisn.

Options :

TCP/TP
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Which of the following files can be opened m browser without any plugins

o b aden Bore (F'abs® Bod 8S° 5 o BBHKOEN.

Options :

mdex.doc
aoiﬁ%. wE

1. #



mndex html
ao(ﬁgrj. AT TN Y ]

index ppt

3 % 50855y 20

imndex dot

5086y &otd
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ICT in governance will not aim at

gbe ICT @wE) efo 56575

Options :

E-government : the application of IT for mtra-govermmental operations

(Government to government or G2G)

B5-(28h&0 : @088 (H8DHE (BEabeh IT srito
( (3800 ood (224he0 8o G2G)

E-service : the application of IT to transform the delivery of public services
(Government to Citizens or G2C)
B-nden: [P naei) 38)Er8  IT ar&8o

5 % ( (53080 00 e dor G20)



E-business : the application of IT to operations performed by government i the manner

of G2B transactions (e.g. procurement)

B-are30 : (0400 o G2B S8 5)5&{)?:}“0“&?@6 PEhe30 S0erOB

E- education

4 E”-.—Sjtﬂé
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Laterite soil contains more of
o385 HE 1 JENST Goérow.
Options:

Iron and Alumimmm

Baan, eeriibddho
1.9 =

Magnesium and boron

~ s Bl - - .-RE 1=
?‘J;&_&Oﬂ:u, 270w



Manganese and Silicates

Hrond, wé’_}qey

Potassium and lead

4% Srércdho, Hdo
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Match the following:

Bob @) e3e855)e5m.

1. World Environmental Day a. Febmary.2nd
(35508 Hogddes BIo (2330, 2
2 World Ozone day b.  Apnl 22nd
in::n::U:j c\_-’l:SSEJ 250 gj‘{g}ﬁi_ 22
3. World Wetlands day c. June, 5th
1&0,0\.-51 méfﬁ __rlll." e B30 E;}J‘-'E 5
4, Earth day d.  September. 16th
$58(8 Bdo 000 16
Options :
: 1-b. 2-d. 3-a. 4-¢
5 % 1-d, 2-c, 3-b, 4-a

3 ¥ 1-c. 2-d. 3-a. 4-b



1-b. 2-c. 3-d. 4-a

L
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Eco-labelling of Commerical Products 1s regulated by
aredesg eefyBen) HoegHdes swldin ab Jabol@ob.

=%

Options :

1. ISO 14020

ISO 14010
e

3 % ISO 14030

4 » 18014040
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The EL Nino disappears in March and re-appears in

306 Y eS8 wodrdnHEod. HBAM JHH HIBEEHHHOB.



August

= ﬁ c:;l

October

.

AP
.o_;:::ﬂ EA.,"TJ

December

o =
G080
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Match the following:
£ (Bob 7HR) eefitihaim,
List -1
(D58 - 1)
=]
Il CHC

2. Co,. Methane

BOD & COD

L]
.

4. MIC

Options :

| % 1-b. 2-c. 3-e. 4-a

5 % l-c, 2-b. 3-a. 4-d

3 % 1-d. 2-b. 3-c. 4-e

4 1-d. 2-e. 3-a. 4-b

Sub-Section Number :

Sub-Section Id :

Question Shuffling Allowed :

Is Section Default?:

List-II

10

(25E-2)

&
Water Pollution
80 SPeNso
Bhopal tragedy
Goard Dapdo
Noise Pollution
WRARSEOVES e
Ozone Depletion
5,8°% Sihse
Global Warming

&orEr0

2702821374

Yes

null
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The mode of educational transaction i ancient system of Gurukul education used to be
Do sreos Hdkerod Do (BB Bob wory TR SRR
Options :

Vocational based

- S)B,8HHES

Values based

> Dende r8HOSH

Skalls based

w . 5 o i
% D)EFTNO (aPSDHOES

All the above
= B

olodod
i,

4. =
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According to Radhakrishnan Commnussion, which of the following s not the aim of Higher Education?

UDQ': g.;; i \:’::.L n.xcl |c>.1? g &-:u P\."Eﬁb i"a\‘:é 1,"—‘_" »‘_Lc\ oo \.J&



Options :

To develop the democratic values. peace and harmony

Heearene Denden, rofarndared DosrohodSdo
= o fadl )

To develop great personalities who can give their contributions in various fields
DG Borred® ordodie IRy tiﬁ'a”;‘,&{éﬁéo

To develop vocational skills and traditional crafts

3 v DB By, FPoEErad J8HFHeD 0dHj Jchdo

To develop reasoning and critical thinking
8, DHGTHE Ha HoerdodsEo
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Foundation training to the newly recruited IAS (Probationers) is imparted by:
SrE50rT DOVBS DD (FPBVS0 egfitoo 856 =) Ny

Options :

Indian Institute of Public Administration

R o, P,
eeiSéd (Deribared Do
L

A

Administrative Staff College of India

gt HBareN 38m Serere



L.B.S. National Academy of Administration

e 4 = i By af TN -
ePHTLErOTR erach Hbares esetidh
3.¢

Centre for Advanced Studies

4 % ol eidhore Solio

Question Number : 49 Question Id : 27028218678 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0

The full form of NAAC 1s
NAAC Eﬂl]ég_ B Brdo

Options :

National Assessment Accreditation Council
- 556 DDD0E w0k EBEEAS

National Assessment and Accreditation Chamber
- I5HE DDFots w0k JEEEAS Joxb

National Assessment and Adjudication Council

3 % S0S JPDD0ES ©ob EW~EEAS TS

National Accession and Accreditation Council

. J58S IS w0k ABEBAS TS
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Which of the following type of universities cannot award degrees

(Bobh A BN DEE NoDOGOLS ;’y.‘::gm; adweRE ehadl) d&dugodiren
= o, ? ) ol gl
Options:

State University

Private University

p

e S v LT -eh

AFN Ay a,lﬁn:mcrvf;@cﬁlah
¥ i

Deemed to be University

&5& DEDoegecho

None of the above

S
8 BoD)
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Which of the following 1s not a tautology?

Options:

(P=Q)=(-PVvQ)

1. %

(P=Q)=(PAQ)V(-PA-0Q)

2. %

3 % -X=2Y)=(Y=1X)

(-PA-Q)=(R=0Q)
4.
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How many numbers in the set {1, 2, 3. ..., 10000} are divisible by 2. 3. 5, or 77

Options :

2000

3333

7715

3. %



4, % 3333
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What 1s the GCD (2016, 208)?

Options :

1. % 208

2.¥ 16

3. % 144

o4
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Which of the following 1s the Simplified Boolean Function for the given function F (A, B. C.D)=ZX
(0,1,2.4.5.7.8,10.13,15).



Options :

AC+BOD
1.9

B'C"+AOD

A'DD+BOD
e

A’D"+B OC
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Let A be a set with ‘n’ distinet elements. How many of them are reflexive and symmetric relations?

Options:

2 @02 shere k=n-1
1.9

(m*k)2 2
5 % 2 @02 here k =n?

2B where k =n?

+{n*k)2

4 % 2 where k =n
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What 1s the logical notation of the given assertion * Not all primes are odd” where E(x) denotes *
x 15 even” and P(x) denotes “X is prime *, O(x) denotes “x is odd™?

Options :

T1x[E(x)V O(x)]

Ix[E(x)V P(x)]

Hx|P(x) A — O(x)
, o 3P A= 0]

Ix[-E(x)V O(x)]

4. %
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Let A={0.1.2} and B={1.2.3}. then what 1s the value of A-B and B-A?

Options :



v A-B={0} and B-A ={3}

5 % A-B = {0} and B-A ={0.2}

« A-B={01.2} and B-A ={2.3}

. A-B={0.1} and B-A={3}
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Which of the following 1s correct?
Options :
The relation of equality on any set 1s only symmetric

1. %

The relation of equality on any set 1s only reflexive
2 %®

3 @ The relation of equality on any set is both symmetric and antisymmetric

The relation of equality on any set 1s only transitive
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In a group of 400 people in India. 250 can speak Hindi and 275 can speak English. How many
people can speak both Hindi and English?

Options :

125

75
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Let T be a rooted binary tree whose vertices are labelled with symbols a. b e, d.e. f g. h.1. ). k.
Suppose the m-order and post-order traversals of T produce the following sequences.

in-order; a,b.c.d.e. f g h1 ).k

post-order: a.c.b,e.f. h,j. k1. g. d

How many leaves does the tree have and what 1s the height of the tree?



Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :

.c.e.hj
| ey

5 achij

3. ¢.b.hij

4 behij
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Which of the following 1s correct to implement the Boolean function F(A.B.C.D) =
£(0.1.2.47.8,9.11. 14) using 4:1 MUX. Where C. D are selection variables?

Options :
. Ii=(CD’+CXORD) ,j=CXNORD .L=CXNORD .I3=CD’

1.

“ Ii=(CXORD) .,;=CXNORD .I;=CXNORD .I;=CD’



3 % IL=(CD") ,1i=CXNORD ,L=CXNORD .3=CD’

4 % I=(CD"+CD") ,1i=CXNORD .Lb=CXNORD .I3=CD’
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. What 15 the simplified Boolean Expression for the function F (AB.CD.E) = 30, 2, 4, 6,
9,13,21,23,25,31) ?

Options:

A'B'C’ +C'E'+AB
#®

2 A'B'E'+ ACE+BD'E

3 % A'B'E’'+ ACE+ BD'E+B'DE’

A'B'E'+ ACE+ BD'E
4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Multiple variable XNOR function F= (A@ B@C)’ 1s defined as............
Options:

1. ® 0Odd function

2.« Even function

Parity function
3 %

Parity generator function
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Assuming single precision IEEE 754 format. what decimal number is represent by this word:

101111101 00100000000000000000000 1f biased exponent form 1s used?
Options :

0.03125
1.9



0.0325

3 % 02125

4 % 0.225
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Computer A with CPI of 1.3 run at a clock rate of 600MHz. Computer B with CPI of 2.5 run at a
clock rate of 750 Mhz. When a program P compiled for computer A has exactly 100.000
mstructions, How many mstructions would the program need to have when compiled for Computer

B, i order for the two computers to have exactly the same execution time for program P?
Options :

65000
1.4

10000
2. %

75000

4 % 80000
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What 1s the value of Y if the number of cascaded gates are 207

I zﬂ}—“-?._'_:"-a\ S
[ Pl SR | O 1o > - T
P S | _,.,_?ru : ) _‘_J_‘, :DH '\__-'1
|
Options :
1.¢ 1
0

2. %

3 % X

4, % X
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If 16 bytes are pulled from stack, having the top of stack address as 00CDH. What will be new top
of the stack if on pushing mto stack decrements top of stack and popping increments the top of

stack?

Options :

1. % O0ADH

5 % 00DDH

10CDH

00BDH
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What 15 the average time to read or write a 512-byte sector for a typical disk rotating at 7200 RPM?
The average seek time 1 8$ms. the transfer rate 15 20MB/sec, and the controller overhead 15 2ms.

Assume that the disk 1s 1dle so that there 1s no waiting time.
Options:

1. % 14.16



14.15

14.17
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Assume a memory access to main memory on a cache "miss” takes 30 ns and a memory access to
the cache on a cache "hit" takes 3 ns. If 80% of the processor's memory requests result i a cache

"hit", what is the average memory access time?

Options:

20ns
)

2. % 24ns

33ns

8.4ns
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How many memory access required for the following instructions:
add rl, 12,13
add r4.15.(r6)
sub r2.r1.(r3)

Options :

1. % One

2. W SIK

3 % Three

4. # Two
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Which of the following is correct for the given code snippet?
int 1
for (1=0:1<10000000:1++):

Options :

Syntax error
1. %



5 Time delay loop

Conditional selective loop
3 %

Selective loop
4. %
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Consider two raster systems with the resolutions of 640 x 480 and 1280 x 1024. How many pixels
could be accessed per second in each of these systems by a display controller that refreshes the

screen at a rate of 60 frames per second?

Note: For this question, discrepancy is found in

guestion/answer. Full Marks is being awarded to

all candidates.

Options :

1.8432 x 107 pixels/second.

1.9432 x 109 pixels/second.



1.78932 x 105 pixels/second.
3.

1.6532 x 107 pixels/second.
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A line connecting the pomnts (1, 1) and (5. 3) 15 to be drawn using the DDA algorithm. What are the

values of x and y merements?

Options :

x-increment=1: y-increment=1

x-mnerement=0.5: y=increment=1
2. %

3 x-increment= 1; y=inerement=0.5

4 % x-merement= 0.5: y=mnerement=0.5.
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What 1s the output of the C code?
#include<stdio.h=
int main()

{
mnt y:

il,ﬂ. :;:p.:!: :E:q:
y=T:p=8&y: g&p;
printf(*the value 1=%d and the value 2 = %d. *p.**q):

Options:

value 1=7 and value 2=7

5> % value 1=7 and value 2= address of p

s value 1=7 and value 2= garbage value

value 1=7 and value 2= address of y
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Consider RGB raster system designed using 8 inch x 10 inch screen with a resolution of 100
pixels/inch 1 each direction. If we want to store 6 bits per pixel i the frame buffer. how much

storage (1n bytes) do we need for frame buffer?

Options :

6 x 10% bytes.
1. %

6 x 10° bytes.
2. %

3 % 8 x 10° bytes.

4 % 8% 10° bytes.
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Which of the following 15 correct?
#include<stdio.h>

int main()

[
1

char s1[20] = {*abe™}, s2[20]={*aac™};
mnt 1.J:
1 = stremp(sl.s2):
1= stremp(s2.s1):
printf(-1=%d and j=%d".1):
)
Options :

1.



1=1 and j = -1
=

> % 1=1 and ;=1

3 % =-landj=l

1= Oand =0
4. %
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Which of the following statement 1s correct?

Options :

Cavalier projection makes 45° angle with the projection plane
1.

> % Cavalier projection makes 63.4° angle with the projection plane

3 ¢ Cabinet projection makes 63.4° angle with the projection plane

4 % Cabinet projection makes 65° angle with the projection plane

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks



for this question if any of the correct options are chosen.
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Which of the following is correct?

Options:

1 % Class template 1s used to create famuly of functions

Programming with templates is referred as functional programming

3 @ Function template 1s used to create family of classes and functions

Operators can be overloaded within class templates
4. &

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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What 1s the output of the following C++ code?
#include<iostream.h>
#define DISPLAY (1) cout<<"b" #1 =" << b&##i
it mamn(void)
{ int b1=10. b2=20;
DISPLAY(1}):
DISPLAY(2):
1
.

Options :

Syntax error
1. %

b1=10 b2 =20
2. ¥

b1=10

b2=20
4. ®
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How to define target in new page in HTML?

Options:

1. % <a href="http://.....com/” target = “blank™>Click Here</a>



<a href= “http://.....com/” target = * blank™>Click Here</a>

2. ¢

<a href =*"http://.....com/” target = “(@blank">Click Here<t/a>
3. % ‘

<a href=“http://.....com/” target = “#blank™>Click Here</a>
4, %
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Let the following relation schemas be given: R=(A.B.C) S=(D.E.F)

Let relations r(R) and s(S) be given. What 1s an equivalent expression in the tuple relational calculus
for [TAF (o C=D(rxs))

Options :

1 (W3 pEd qesAl=p[lA]At[F]=q[F]a p[C]=q[D]}

s {t3GEr(GEAI-tAD}

, « {3 aEx(CI={DD)

{t3 g€ 1(t[A]=q[F])}
4. ®
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Consider relation R=(A, B. C). and let rl and r2 both be relations on schema R. What is an

expression in the domain relational calculus that 15 equivalent to r1Us2 ?

Options :

{<a,b.c >|<ab.cerlv<abc>er2}
1. %

> % {<ab.c 7[<ab.crerla<ab.c>er2}

3, % {<a.b.c >[<ab.c>€rl.r2 A<ab.c>erlsr2}

{<ab.c >|<ab,c>€rl r2)
4, *
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Consider the employee database where primary keys are underlined: employee (employee-name,

street, city) works (employee-name, company-name, salary) company (company-name, city)
manages (employee-name, manager-name)

Which of the following is correct for the SQL query? Update works set salary = salary * 1.1
Where company-name="ABC’

Options :



| % Give all managers of ABC a 10 percent raise

. Lists all employees of ABC a 10 percent raise

3 % Lists all managers of ABC a 10 percent raise

4 & Give all employees of ABC a 10 percent raise
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Consider the employee database where primary keys are underlined: employee (employee-name,
street, city) works (employee-name, company-name, salary) company (company-name, city)
manages (employee-name, manager-name)

Which of the following is the SQL query to Find the company that has the smallest payroll?
Options :

1. % Select company-name from works group by company-name

5 % Select company-name from employee group by company-name

3 % select count (distinet employee-name) from works group by company-name



select company-name from works group by company-name having sum(salary)<=all

(select sum(salary)from works group by company-name)
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Consider the following set of frequent 3-temsets: {1. 2. 3}. {1, 2.4}, {1.2,5}. {1,3.4}. {1. 3, 5}.
{2,3.4}. {2.3, 5}, {3. 4. 5}. Assume that there are only five items in the dataset. How many
candidate 4-itemsets can be obtained by the Fk—1 x F1 candidate generation method?

Options:

4
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What 1s the Euclidean distance between Al and A2, where Al (2. 10) and A2 (2. 5)?

Options :

Sqrt(25]
1@ qrt(=>)

Sqrt(36)

3 % Sqrt(2)

4. % Sqrt(5)
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Which of the following statements 1s FALSE?

Options :

Association analysis will vield the same frequent iterm sets and strong association rules
1 % whether a specific item occurs once or three times m an mdividual transaction,

The k-means ClllSTﬁl‘illQ ngﬂl‘iTlllll will aummaticallv find the best value of k as part of its
2alg ) P
2 normal Opfl‘ﬂliﬂll.

3 % A density-based clustering algorithm can generate non-globular clusters.



In association rule mining the generation of the frequent itermsets 1s the computational
4. % 1ntensive step.
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In order to turn on RPC authentication in hadoop. What 1s the value to be set to

hadoop.security.authentication property?

Options :

Zero
1. =

One

Kerberoes

False
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A computer system can operate in two different modes. Every hour, it remains m the same mode or
switches to a different mode according to the transition probability matrix.

p= [(}.4 0.5]

06 04
If the system 1s in Mode I at 5:30 pm, what is the probability that it will be 1n Mode I at 8:30 pm on
the same day?

Options :

pu #'=0.496
1.9

puW=0.496
o P11'?=0.496

pu ¥ =0.52
-
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Consider the process and its arrival time and CPU burst time for each process.

Process Arrival time | CPU Burst Time
P1 0 10

P2 2 6

P3 3 1

P4 5 3

What is the waiting time of process P3 and average turnaround time for FCFS CPU

process scheduling?

Options :

13 and 13.25

10 and 13.25

2. =

3 % 8and 13.25
2 and 13.25

4. %
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Consider the process and its arrival time and CPU burst time for each process,

Process Arrival time | CPU Burst Time
o 0 10

P2 2 6

P3 3 1

P4 3 3

Using Round robin scheduling with time quantum of 4, what is the average waiting time and
Average turnaround time?

Options :

3.75 and 13.50

3.75and 13.25
2.9

3 % 5.75 and 1325

5.0and 13.0
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A counting semaphore was nitialized to 10, then 20P (wait) operations and xV (signal) operations
were completed on this semaphore. If the final value of the semaphore 1s 5. then the value of x



Options :

I
1« 1:
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A linker reads four modules whose lengths are 400, 1000. 800 and 600 words, respectively. If they
are loaded in that order, what are the relocation constants?

Options :

1 % 0, 200, 400. 800

400, 600, 1000, 200
0. #

0, 200, §00.1000
3. %

0. 400, 1400, 2200
4. &
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Consider ‘4’ processes sharing the CPU 1n a round-robin fashion. Assuming that each process switch
takes ‘s’ seconds with quantum size ‘q" What is the total time taken for P1 to Schedule again after
first round?

Options :

3st4q

1. #

3(stq)

3. % 4(s+q)

4s+3q
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If an instruction takes ‘5" microseconds and a page fault takes an additional ‘6" microseconds. what
is the effective nstruction time if on the average a page fault occurs every k mstruction?

Options :

1.



5+6/k

, 11k

3 % 5+6%k

4 % 5*k+6
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Which of the following is correct regarding the demand paging?
Options :
s Policy for determining which page replacement algorithm to be used.

1.

5> % Policy for determining which page to replace.

Loading a page into memory only on a page-fault.

3.

Starting a process with all of 1ts pages resident in physical memory,



Question Number : 97 Question Id : 27028218726 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

Consider the time taken for each of the following operations as t1. t2. 3. and t4. Which of the
following 1s ascending order of cost of these operations?

tl =time taken to detect a protection violation.
t2 =TLB nuss.

t3 = Page fault with replacement of dirty page.
t4 = Page fault with replacement of clean page.

Options :

t1=t2< t4<t3
1.+

t1>t2>13>14
2. ®

3 % t1<t2<t3i<t4

1 <t3<t2<t4
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Correct Marks : 2 Wrong Marks : 0



Constder a UNIX file system with 20 direct pomters, | indirect pointer and 1 double-indirect pointer
in the 1-node. Assume that disk blocks are 4K bytes and that each pointer to a disk block requires 4
bytes. What 1s the largest possible file that can be supported with this design?

Options :

1@ 20*4KB + 1024*4KB + 1024*1024*4KB

5 % 1024*4KB

3 % 1024%1024*4KB

4 % 1024%1024*1024KB
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Correct Marks : 2 Wrong Marks : 0

Match each RAID level with its primary disadvantage. Choose the best option for each.

1. RAID-0 a. Wastes disk capacity

2. RAID-1 b. Complicated calculation of data and parity location
3.RAID-4 ¢. Failure of one disk causes loss of data

4, RAID-5 d. Panty disk 1s performance bottleneck

Options :

1 % 1-b, 2-a, 3-d. 4-¢



1-c. 2-a. 3-d. 4-b
2. %

g« 1-b. 2-¢, 3-d. 4-a

l-c, 2-d, 3-a. 4-b
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Correct Marks : 2 Wrong Marks : 0

What is the result of 31 mod 11 using Fermat’s little theorem?

Options :

9

2. % 3mod 11

3 % 3 med 11

4 % 12mod 11

Question Number : 101 Question Id : 27028218730 Question Type : MCQ Option Shuffling : No
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No
Correct Marks : 2 Wrong Marks : 0

In a community of ‘n’ people. how many shared secrets are needed for symmetric-key
. 7
cryptography’

Options :

1

3. # n{n)2

n(n-1)/2
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Correct Marks : 2 Wrong Marks : 0

Consider plain text and cipher text 4-bits long and the key 15 3-bits long, Assume that the function
takes first and third bits of key and interprets these two bits as a decimal number, squares the
number and interprets the result as 4-bit binary pattern. What 1s the encryption and decryption if the
original key 1s 0111 and key 15 101?

Options :

1@ 1110 and 0111

1001 and 1100
2. %



1100 and 1001

1100 and 0011

Question Number : 103 Question Id : 27028218732 Question Type : MCQ Option Shuffling : No
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Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
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Correct Marks : 2 Wrong Marks : 0

What 15 the recurrence relation for Bubble sort procedure to sort ‘n’ numbers 1 ascending order?

Options :

T(n)=T(n-1)+n-1 forn=1
Y 4

2 % T(n)=T(n-1)+1 for n=1

T(n)=T(n'2)+n tor n=1
3. %

T(n)=T(n-2) +n-1 forn>1
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Correct Marks : 2 Wrong Marks : 0

Given a weighted directed graph G with ‘n’ vertices and ‘m’ edges, the Bellman ford algorithm
computes the distance from vertex ‘v’ to all other vertices m G i .......... time.

Options :

1 % O(n+m) time

> ® O(n*n)

3 % O(m*m)

O(n*
4 (n*m)
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Correct Marks : 2 Wrong Marks : 0

During execution of Edmonds-Karp algorithm for max-flow problem on a network with ‘n’ vertices

and ‘m’ edges. how many number of flow angmentations takes place?
Options:

1. # Not more than ‘n’

Not more than (n*m)



3 % Notmore than (n+m)

More than (n+m)

Question Number : 106 Question Id : 27028218735 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Let T be a binary tree with ‘o’ nodes, How many number of external nodes and internal nodes exists
at most in T?

Options :

2% and 2%-1. where h denotes height of T
1. %

201 and 2B-1, where h denotes height of T

251 and 281, where h denotes height of T

+h-2

4 % 2 and 281, where h denotes height of T
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No

Correct Marks : 2 Wrong Marks : 0

How many comparisons are required to search for a pattern abacab in a string

abacaabadcabacabaabb using Boyer-Moore Pattern matching algorithm?

Options :

Question Number : 108 Question Id : 27028218737 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

What 15 the total length of thesuffices of a string X of length ‘N’?

Options :
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Correct Marks : 2 Wrong Marks : 0

What 15 the complexity of the algorithm to find the connected components of a graph G with ‘n’
vertices and ‘m’ edges represented in adjacency list structure?

Options :

1. % O(n*n)

> O(n+tm)

O(m*n)

O(m*(n-1))
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Correct Marks : 2 Wrong Marks : 0

For a graph G with 6 vertices and 14 edges and mimimum spanning tree cost 1s 32. What 1s the
minmmum cost if the cost of the edges are doubled i G?

Note: For this question, discrepancy is found in
qguestion/answer. Full Marks is being awarded to

all candidates.

Options :
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The minimum number of states required for deterministic finite automaton accepting the language L
* o i ' o '
= {w|w € {0.1} - the number of 0°’s and 1’s are divisible by 3 and 5 respectively?

Options :



2. %

3.% 10
15

4.

Question Number : 112 Question Id : 27028218741 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0
Consider S = SS|a . the number of derivation trees for aaaaa is .........
Options :

g

Question Number : 113 Question Id : 27028218742 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
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Correct Marks : 2 Wrong Marks : 0

. Consider the regular Language L = {111 +11111}*, The minimum number of states required for any
DFA accepting accepting this language is ...............

Options:

L)
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Correct Marks : 2 Wrong Marks : 0

Consider the Language L={a"b ™ d¥ | n.m,p.q >=1} , then which of the following is correct?
Options:

L 1s CFL but not Regular

1. %



5> % L 1s CSL but not CFL

3 @ L 1s regular

4. % type 0 language but not type 1
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Correct Marks : 2 Wrong Marks : 0

Let S be a NP-Complete problem and Q and R be two other problems not known to be in NP. Q 1s
polynomial time reducible to S and S is polynomial time reducible to R. Which one of the following
statements 1s true?

Options:

R 1s NP Complete

1. %

5 R 1s NP hard

3 % Q 1s NP Complete

Q 1s NP Hard

Question Number : 116 Question Id : 27028218745 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

s H . ¥ i "
Let T ={a.b.c.d.c}. The number of strings in £ of length 4 such that no symbol is used more than
ONCE 101 & SHINE 1S..evvvneres

Options :

1. % 240

360

3 v 120
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Correct Marks : 2 Wrong Marks : 0

Which of the following statements 1s FALSE?
Options:

w The union of two recursive sets 1s recursive

2 # The complement of the recursive set 1s recursive



3 % The Halting problem for Turing machines is recursively un decidable

4 Liand Ly are recursive enumerable sets then Ly Union L are not recursively enumerable.

Question Number : 118 Question Id : 27028218747 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The minimum number of states required to construct DFSA for the set of strings over {a.b} having
an even number of a’s and odd number of b's 15 ..o

Options :

L
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Correct Marks : 2 Wrong Marks : 0
. What 1s the time complexity to sort 2" numbers in ascending order using sorting network?
Options:

2Logyn

2 % Lognt2

Logznt+n

Logm
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Correct Marks : 2 Wrong Marks : 0

Which decomposition method 1s used to solve the parallel quick sort algorithm?
Options :

Data decomposition

> o Recursive decomposition

3 % Speculative decomposition



Exploratory decomposition

Question Number : 121 Question Id : 27028218750 Question Type : MCQ Option Shuffling : No
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Correct Marks : 2 Wrong Marks : 0

Consider 2® processors connected with hypercube topology, What 15 the communication cost to
broadcast the message ‘m’ to all nodes 1f t:1s startup time and tw 1s word transfer time?

Options :

1.« ts Ttw (logn)

2 ® (ts + tw ][]D_E’ I]:P

3 % {Ts Ll ‘: n))

(ts + tw (nlogn))
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. Which of the following 1s cache coherence snoopy based write mvalidate protocol?



Options :

MSI
1.4

Cache-based protocol

2. %

3 Memory-based protocol
Directory-based protocol

4, %
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What 1s the output of the following C code?
#include<stdio.h>
main()
{1t j=2:
while(j--) { int j=20: printf{(**%d". j):}

1
]

Options :

20 20



11
4. %
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Correct Marks : 2 Wrong Marks : 0

Which of the following is correct for the given recurrence equation?
T(n) = 5T(n/5) + sqrt(n)
T(1)=1

Options:

theta( n)
1. %

> % theta(nlogn)

O(n*n)

“ O(n*log n)
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What 1s the output of the C code ?
#include<stdio.h>
mt main()

{ mnt k=10, 1=5;

printf(“the value of 11is:\t”, ++i, ++1):

;

Note: For this question, discrepancy is found in
question/answer. Full Marks is being awarded to

all candidates.

Options :
1. : L
2, 4
3. 3
4.9 3
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Correct Marks : 2 Wrong Marks : 0

If the signal speed 1s 6 psec/km then. what is the propagation time in milliseconds on a 3000km long

cable?
Options :

1.



3 % 18000

180
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Correct Marks : 2 Wrong Marks : 0

Which of the following IP address is private IP address?
Options:

100.10.10.10

1. #

« 200.216.10.10

11E131.135.136

192.168.0.13
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Correct Marks : 2 Wrong Marks : 0

Match the following port number with their application.

List—1 List—1II
(Port number) (Application)

1. 25 a. TFIP

Z: 114 b. TELNET

3. 69 ¢. POP3

g 23 d. SMTP

Options :

1-d. 2-a. 3-c. 4-b

1. =
1-b, 2-c. 3-a. 4-d
2 %®
1-b. 2-c. 3-a, 4-d
e
[77; b (P A
4 1-d. 2-c. 3-a_ 4-b
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In RSA crypto system. fora given primes P=17.Q =11 and also give public key
¢ = 7. then calculate the value of private key'd’?

Options :

1. % 160
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Correct Marks : 2 Wrong Marks : 0

In the Ethernet protocol. for a given bandwidth of 10Mbps. what is the baud rate (answer mn terms of
Mega bauds).

Options :

5

10

4 % 100
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Correct Marks : 2 Wrong Marks : 0

Calculate the Frame Checksum (FCS) for the message 10110 with generator polynomial 1101 using
CRC method.

Options :

010

1. %

1001

101

110
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Correct Marks : 2 Wrong Marks : 0

In TCP. the sending host sends the message of 20 bytes with starting sequence number 100. The
receiving host gives the acknowledge number as............

Options :



100

120

160

260
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Correct Marks : 2 Wrong Marks : 0

Given the IP address with CIDR notation as 200.100.35.250/28. what 1s the block ID?

Options :
200.35.240.0
1. #
200.0.0.0
2. #®

200.100.35.240

200.100.35.28
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Correct Marks : 2 Wrong Marks : 0

Options :

Class A

1. %

5 % ClassB

3 Class C

Class D
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A DNS server listens for requests on port number

Options :



53
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Correct Marks : 2 Wrong Marks : 0

For the given grammar which all sentence can be parsed

S->NP VP
VP->V NP
NP-> ARTN
NP->N

V -> ate

ART -> the
N -> cat
N->John

Options :

John ate the cat

cat ate john the
2 %

3 % dog ate the cat



All the above
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The neural network given bellow takes two binary valued

mputs x1.x2€{0.1} and the activation function 1s the
binary threshold function ( h(x)=1 if x>0; 0 otherwise).

Which of the following logical functions does it compute?

Options :

1. % OR

, » AND

NAND



NOR
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If a class C 1s derived from class B. which 1s derived from class A, all through public inheritance,
than a class C member function can aceess........c.vvnnen.

Options:

Only protected and public data of C and B

Only protected and public data of C

All data of C and public data of A and B

Public and protected data of A and B and all data of C

Note: For this question, ambiguity is found in question/answer. Candidate will get full marks

for this question if any of the correct options are chosen.
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Correct Marks : 2 Wrong Marks : 0



How many maximum number of edges can be there in n-node undirected graph without self-loops?

Options :

1 % n*n

) n{n-1)/2
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Correct Marks : 2 Wrong Marks : 0

How many number of NAND gates required to implement the Boolean function F(AB.C)=
A+AB'+AB'C + AB + ABC+ABC’

Options :

One

1. #

Two

Three

Zero
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Which of the following 1s not true about Incremental testing?
Options :

: Top-Down approach can be used
e

Use of stubs or drivers are required
2 %

All modules need to be completed prior to testing

Bottom — up approach is also possible

Question Number : 142 Question Id : 27028218771 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following 1s a form of functional testing?

Options :



Usability testing
1. %

Boundary value analysis

3 % Performance testing

Security testing

Question Number : 143 Question Id : 27028218772 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :
No
Correct Marks : 2 Wrong Marks : 0

The model which estimates the total effort in terms of person, months of the technieal project staff 1s

Options :

1 % Spiral Model

> % Waterfall model.

3 % Win-win spiral model.

4 Cocomo Model



Question Number : 144 Question Id : 27028218773 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

The program counter register contains 85AC and the address part of the instruction contains 125. If the
relative addressing mode 15 applied. what 1s the effective address?

Options :

85AC

1. %

5 % 85Al

86CF

§6D1

Question Number : 145 Question Id : 27028218774 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Identify the following activation function: (V)=Z +(1/ 1 +exp (-x*V+Y) ).
Z. X. Y are parameters ?

Options:

1.



Sigmoid

Step

Ramp

4 Guassian
W

Question Number : 146 Question Id : 27028218775 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

Which of the following neural networks uses supervised learning?
1) Multilayer perceptron

11) Self organizing feature map

111) Hopfield network

Options :

(1) only
1.¢

(11) only

2. %

(111) only



(1) and (11) only

Question Number : 147 Question Id : 27028218776 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

How many number of the times given instruction sequence will loop before comung out of loop?
MOV AL, 00h
Al INC AL
INZ Al

Options:

00

1. #

Question Number : 148 Question Id : 27028218777 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0



Which flag acts as Borrow flag for SBB instruction in 8086 architecture?
Options :

1 % Auxiliary Flag

5 o Carry Flag

3. % Parity Flag

Trap Flag

Question Number : 149 Question Id : 27028218778 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No

Correct Marks : 2 Wrong Marks : 0

A computer system stores floating-pomt numbers with a 16-bit mantissa and an 8-bit exponent, each in
two's complement form. What 1s the smallest and largest positive values that can be stored 1n this
system?

Options :

1. % 1x10 128 and 2P x 10 18

155

_ 1x10 296 and 219 x 10 3

3 % 1x10 ™ and 2P x 10 ¥



1x10 8 and 2P -1)x 10 177
4.

Question Number : 150 Question Id : 27028218779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0 Allowed Progression : Yes Number of Replay : 999 Play On
Load : No Control Enable : Yes Time interval to replay(In Seconds) : 0 Allow Volume Control :

No
Correct Marks : 2 Wrong Marks : 0
Which of the following statements will generate a random number in the range 30 to 50 ?

Options :

(rand 0)

5 % (rand() % 20 + 1)

( rand()% 21) + 20

( rand() % 21) + 30
4. &



